EST-3S5A

@@; .

EST-117

©

EST-1016

EST-1140
EST-125

o
EST-125

EST-1100
CABINET WELDMENT

EST-104A

EST-3554

EST-354

EST‘% @ es1-353
FILL_SUB-ASSEMELY @ esr-3s3
o EST-1161
§ 7l EST-105A
900-212 _
%0-187 EST-1065
Eszzéms
EST-1124
e @ g EST-1125
9 E5T-383
EST-1014 ® —_
TANK ﬂ
GT-122
G1-116
TANC ASSENBLY (S
EST-1002-X-X o s -
GT-120 8
1S) M {]
@ esr-207 @ cr-us
& o
ik ERAIN SLB-ASSEHBLY £ST-100-2
EST-1162 )
EST-1060-2 ©
e
® & —esT-1058
©—EST-189 1845
EST-1012 @ Qe @
EST-1011 & E)—aw-lgg
—EST-152
107 ® ®
oA @ @
EST-1526 @ EST-1062 @ ]
EST-1023-1 EST-1001B
EST-1525 @
o EST-177

EST-122

0 \
IS

EST-1142
* (3
et / EST-1148
28
& EsT-1141
3

: ¥

ce EST-1143

N Q

5

EST-1124
EST-1125

| \ csro1121 §

Y EST-1157

/7

EST-1409

%;H 123

EST-353

OM-165

Model ADS - Parts Schematic

N
Y

EST-1106 e

]

EST-233



TRION ADS240330 HUMIDIFIER PARTS LIST

Item No. Description Item No. Description
EST-003B Cylinder Full Interface EST-1016 Hole Plug, Steam Ouitlet 2 %"
EST-076 1/4" SS Split Lockwasher EST-1058 Female Connector, 1/4" Comp. x 1/4" FPT
EST-104A Mani Line Transformer EST-1060-2 | O Ring
EST-105A Toroid Transformer EST-1060-3 | O Ring
EST-109 Contactor, 3 Pole, 40 Amp EST-1065 Electrode Washer
EST-109-2 Auxiliary Contact EST-1080 Electrode Knob
EST-109-3 Contactor, 3 Pole, 65 Amp EST-1092 Drain Kit Assembly (Includes Solenoid & Drain Cup)
EST-117 Grommet, Steam Hose EST-1123 Terminal Block, 12 Position
EST-119 Fuse Holder EST-1124 Terminal Strip, 12 Pole
EST-122 Cabinet Lock with Keys EST-1125 Marking Strip for EST-1124
EST-125 Snap-In Button Plug EST-1140 Hole Plug, 1/2"
EST-152 1/2" Comp. x 1/4" MPT Brass Fill Adaptor EST-1141 Red Light — 24V-lamp
EST-165 SS Hose Clamp, Steam Hose EST-1142 Green Light — 24V-lamp
EST-171 Steam Hose EST-1143 On/Off Drain Switch
EST-177 Circuit Board Space EST-1146 KEP Nut, 6-32
EST-189 Brass Washer EST-1525 Drain Reservoir
EST-207 Clamp EST-1526 Gasket, Drain Reservoir
EST-233 Control Fuse, 3 Amp AH-13 Rubber Washer
EST-235 Power Block, 175 Amp, 1¢ Fv-12 Brass Comp. Nut, 1/4"
EST-236 Power Block, 175 Amp, 3¢ GT-116 Celcon Comp. Nut, 1/4"
EST-238 Power Block, 335 Amp GT-118 Metering Fill Solenoid
EST-239 Ground Block GT-120 Fill Tee
EST-353 Shorty Bushing, 7/8” GT-122 Fill Tee “P” Clamp
EST-354 High Voltage Fuse, 600 Volt GT-153 Strainer
EST-355A High Voltage Fuse Holder 107 Brass Cabinet Drain Eyelet
EST-363 Double End Brass Union 11A SS Retaining Ring
EST-529C Quick Connect, Cylinder Full Electrode 1095 SS Hose Clamp
EST-1001B Main Circuit Board, Provide Specific Model Numbers 1845 Door Interlock Switch
EST-1011 Grommet, Drain Tee 900-187 Flat Washer, 1/4"
EST-1012 Drain Tee, 1/2" 900-212 Nut, 1/4"






